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Osmosis in eggs

Q1. Three different bowls of solution are on a table, but they are not labeled.  The three solutions are identical except that one has no sugar, one has a high concentration of sugar, and one has a low concentration of sugar.   

A raw egg with its shell removed was placed in each of the solutions, and the mass of each egg was measured every 10 minutes for a half hour.  The table below shows the results.

Mass of eggs placed into 3 different solutions of unknown sugar concentration

	
	Starting mass of egg
	Mass after

10 minutes
	Mass after

20 minutes
	Mass after

30 minutes

	Egg in solution A
	70g
	71g
	71g
	72g

	Egg in solution B
	70g
	86g
	112g
	165g

	Egg in solution C
	70g
	62g
	55g
	43g


a. Which solution had no sugar? 

b. Which solution had low sugar?

c. Which solution had high sugar?

d. Explain how you determined your answers:

Q2.  In Osmosis, water can cross a membrane but many solutes do not.  Explain what can happen to a cell as a result and why.









